CBSE Class 12 Economics Question Paper 2013 (March 30, Code - 58/1/1)

Candidates must write the Code on
the title page of the answer-book.
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o Please check that this question paper contains 8 printed pages.

e (Code number given on the right hand side of the question paper should bewritten on the
title page of the answer-book by the candidate.

o Please check that this question paper contains 32 questions.
e Please write.down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted o Tead this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30. am; the students will read the

question paper only and will not write any answer-oi the nswer-book during this period.
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General Instructions :
(i)  All questions in both the sections are compulsory.
(ii) Marks for questions are indicated against each.

(iii) Question Nos. 1-5 and 17-21 are very short-answer questions carrying 1 mark each.
They are required to be answered in one sentence each.

(iv) Question Nos. 6-10 and 22-26 are short-answer questions carrying 3 marks each.
Answers to them should normally not exceed 60 words each.

(v)  Question Nos. 11-13 and 27-29 are also short-answer questions carrying 4 marks
each. Answers to them should normally not exceed 70 words each.

(vi) Question Nos. 14-16 and 30-32 are long-answer questions carrying 6 marks each.
Answers to them should normally not exceed 100 words each.

(vii) Question Nos. 11 and 19 are value-based questions.

(viii) Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.
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SECTION - A
1. TR e % 31 STET RITY | 1
Give two examples of fixed costs.
Define marginal cost.
3. 1
4. - SR |FT HI 31 AT | 1
Give the meaning of market demand.
5. g TSR & SR | 9iHT Gt (ST0TH) 9d ShiAd & e &l & 2 1
Under which market form a firm’s marginal revenue is always equal to price ?
6. Hfedr o] 3R GHRI 9% & did = THEARET | 3
Explain the difference between an inferior good and a normal good.
7. BIEHH 9 SuEiiar fEd o ot STFITT STgE! i SEEdl § SR SiNy | 3
4T
SUGITTAT forgaiuor &t TEEar ¥ SUiEl & Gqoi- & Idl ol SREAT HINT |
Explain the law of diminishing marginal utility with the help of a total utility schedule.
OR
Explain the conditions of consumer’s equilibrium with the help of utility analysis.
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g, U I I HFd T 20 Ui 3P I X 30 Uiy T 52 9, T9 9% S IAGA HA aell Th
e 5 Toia (3MT) T 100 § SgeRT T 300 B ST € | T I I T B qNeher BT | 3

When the price of a good rises from X 20 per unit to ¥ 30 per unit, the revenue of the
firm producing this good rises from X 100 to ¥ 300. Calculate the price elasticity of

supply.
9. fym=ifeifiaa diferest 1 T SHig 3
ST 1 THIE AHA IATE (3H3) = TS (3HTF)
1 Y
2 ' 0 peme
. S SR e s 10
4 . S ——
. S — 4
6 7 e
Complete the following table :
Units of Labour Average Product Marginal Product
(Units) (Units)
1 N A VN Y & ..n
2 W 0 _x O\
D 0000 ......: 10
4 ~ m . 21—
RECRI . i e 4
5 T e
10. Tiu%@ﬁwﬁ“&éﬁﬁ%reﬁrﬁﬁﬁﬁmﬁm%ql 3

Explain “large number of buyers and sellers” feature of a perfectly competitive market.

11. @WﬁW%Wmmauna@w% | e ST 24 drell
ST I Bl & | ST HHTEAT a5h b1 Tedl U 3 TG i AR iy | 4

Production in an economy is below its potential due to unemployment. Government starts
employment generation schemes. Explain its effect using production possibilities Curve.

S Frefaias wo e ghedm wantaar & e ue € 11 & ™A W E |

Note : The following question is for the blind candidates only in lieu of Q. No. 11.
T Sreeeer § SN & HRUT S SR &Ha § F9 § | TR ST <A el
W%W%lwwmﬁwﬁwﬁaa%maﬁmﬁﬁm 4
Production in an economy is below its potential due to unemployment. Government
starts employment generation schemes. Explain its effects using production

possibilities schedule.
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12.

3

14.

13,

The price elasticity of demand for a good is — 0.4. If 1ts price increases by 5 percent,
by what percentage will its demand fall ? Calculate.

OR
Explain any two factors that affect the price elasticity of demand. Give suitable

examples.

Giving reasonsystate whether the following statements.arc true or false :

i) A monopolist can s€ll any quantity he likes ata price.

(il) When equilibrium price of a.good is less than 1ts market price, there will be
competition among the sellers.

e SR G TR ScAS ol < e @ “afadt S & FraE St S S |

Explain th&LaW c;"f"i;ériable Proportions with the help of total product and marginal
product curves:

product schedule.

16. mﬁﬂmwmﬁwﬁmﬁwﬂw%ﬁ@qﬁmaﬁm |

Al
rtefad % s Gy i AT T
() 3T aEa Wl B 3 B g2 TR I A
(i)  Shea i AT R A H AT
Explain consumer's equilibrium with the help of Indifference Curve Analysis.

OR

Explain the relationship between
(i) Prices of other goods and demand for the given good.

(ii) Income of the buyers and demand for a good.
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SECTION - B

17, yeger faesh fawr focel fafrag ot #ima &t 8 weifad < Fehdl & 2

How can increase in foreign direct investment affect the price of foreign exchange ?

18. W STHIT <471 Bl & 2

19,

20.

What are demand deposits ?

R TN T U ITEIVT ST R AT o shedTor | AT ATl ¢ |

Give one example of “externality” which reduces welfare of the people.

YT B & T ITBLT JIT |

Give two examples of indirect taxes.

21. TIHRI S5 T BT § 2

What is a Government Budget ?

22, g fafTr Towet o Sl STayaehISA % SIeY WA i ] i AT HIfTC | T A
T &l hd 1hdl 2

23.

24.

2

20.

58/1/1

Explain the problem of double coincidence of wants faced under barter system. How
has money solved 1t 2~

TR §9i H Wmﬁﬁﬁmﬁﬁ?‘qﬁﬁq | Uik ST Uoh-Ush SKI6X0T {IsTY |

TS |1 3 TSRS °1E H A DI |

Distinguish between revenue expenditure and capital expenditure in Government
budget. Give an example of each.

OR
Distinguish between revenue deficit and fiscal deficit.

TR §91¢ & Topdl Ueh 39T i SRS DT |

Explain any one objective of Government Budget.

i HET ol Hoa-gig % TN U THTE Sl ST I |

Explain the effect of appreciation of domestic currency on imports.

IR Y W €] @I & A9 | g HiT |

Distinguish between balance of trade and balance on current account.
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7 fyefefiad 3iteel 9 “fashr %1 aiehe HINT - 4

CAILELE:)
(i) R AN T Hae 4o gig 560
(1) ¥l 60
(i) IH ° qRad (=) 30
(iv) TEIadl AT 1000
(v) Tam« 200
(vi) SAUHE Y 60
Calculate “sales” from the following data :
(X in lakhs)
(i) Net value added at factor cost 560
(ii)) Depreciation 60
(iii) Change 1n stock (—) 30
(iv) Intermediate cost 1000
(v) Exports 200
(vi) Indirecttaxes ' 60
28, T T B PreeAEe 1 @i 3T v § S I 4
G) =@
(iii) ehet TMT SIS
(iv) |
| AT

3T I Tshid TellE AT |
Giving reasons categorise the following into stock and tlow :
(i) Capatal
(1) Saving
(iili) Gross domestic product
(iv) Wealth
OR

Explain the circular flow of income.

29 HTIT d% F “TIHN FH 9B HA Tl I DINTT | 4

Explain “Banker to the Government” function of the Central Bank.
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30. TS eferaT B STNNT Bel C = 100 + 0.4Y ¥ fEH C 3T+ &5 SR Y UE AE ¢ |
e =g 1100 & | aREher i - 6
(i) g 3T S A &
(i) T A F e TR I 399
C =100 + 0.4 Y is the Consumption Function of an economy where C is Consumption
Expenditure and Y is National Income. Investment expenditure 1s 1100. Calculate

(1)  Equilibrium level of National Income.
(ii) Consumption expenditure at equilibrium level of national income.

31. FrAfefEa diferss R Hig _ 6
) i (%) . o
| 0 30 |
L ] 04 | .
| L <08
...... 0.20
A A0 T 0.35
ﬁaréin al L Average

propensity to save

| propensity to save|

Bl 1 cueees
...... 0
...... 0.20
| 0.8 ©0.35
32. Trefafad sifeel 9 UL 3 1 TReheld ST : 6
(T ST H)
() st sifaw SuahT =9 900
(1) ™ 100
(i) R AT<TH U =Y 400
(iv) ool 3mae ax 100
(v)  9hel J9Ig YSit AT 250
(vi) <% ¥ gReEdH 50
(vii) focen @ Fae SR 3™ (-) 40
(viii) TR Sl 61 39T 20
(ix) frad emEa | 30
HAdT
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Erfofiad siel § Fract TSR Waisg 3T & U HITT :

()  EFIR ged W Hehel U 3R
(i) 9 fava &t Feet It gl
(i) o STucaE T

(iv) Tocen =i fHeet R 3E

(v) ISR R S

(vi) TR ISl & SuT

(vii) TR F YSHcR () FRAT

Calculate National Income from the following data :

(1) Private final consumption expenditure

(il)  Profit

(iii) Government final consumption expenditure
(iv)  Net indirect taxes

(v)  Gross domestic capital formation

(vi) Change in stock

(vii) Net factor income from abroad

(viii) Consumption of fixed capital

(1x)

Net imports ~__

EEE)

2000
(=) 200
150

60

70
200
150

(T in crores)

900
100
400
100
250

50
()40
20
30

Calculate nef*m.tiénal disposable income from the following data :

(1) Gross domestic product at market price
(ii)  Net current transfers to rest of the world
(ii1)  Net indirect taxes
(iv)  Net factor income to abroad
(v)  National debt interest
(vi)  Consumption of fixed capital
(vii)) Current transfers from Government
8

(% in crores)

2000
(=) 200
150

60

70
200
150
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